Mock Test-03 MOCK TEST NEET -2020 (Answers & Solution)
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MOCK TEST-03 SOLUTION

ANSWER KEY

Que.| 1 2 3 4 5 6 7 8 9 |10 | 11 |12 (13 |14 | 15|16 | 17 | 18 | 19 | 20
Ans.| 3 2 3 2 2 2 2 3 3 4 3 3 3 2 4 4 3 1 3 4
Que.| 21 | 22 | 23 |24 | 25 |1 26| 27 | 28|29 (30| 31|32|33|34|35|36|37|38]|39]| 40
Ans.| 3 3 2 3 3 3 2 4 3 4 4 2 1 1 1 3 3 2 4 3
Que.| 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | S0 | 51 | 52 [ 53 | 54 [ 55 | 56 | 57 | 58 | 59 | 60
Ans.| 2 4 2 3 2 3 3 2 2 3 4 3 2 2 4 1 3 4 2 1
Que.| 61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 70 | 71 | 72 | 73 | 74 | 75 | 76 | 77 | 78 | 79 | 80
Ans.| 3 3 4 1 4 1 2 4 3 2 4 1 4 2 3 3 1 1 4 4
Que.| 81 | 82 | 83 [ 84 | 85 |86 | 87 | 88 | 89 | 90 | 91 | 92 ( 93 | 94 | 95 | 96 | 97 | 98 | 99 [100
Ans.| 4 3 3 2 3 4 3 1 3 4 4 4 4 3 2 3 3 3 3 2
Que.[101 102|103 104105106 107|108 | 109 (110|111 ]|112]|113 114115116 117|118 |119]|120
Ans.| 2 3 2 1 4 2 4 2 2 2 3 3 4 2 3 4 4 4 2 1
Que.| 121|122 |123 (124 1125(126|127 | 128|129 | 130131132 (133|134 (135136137138 |1392|140
Ans.| 4 1 2 1 3 1 2 4 1 1 2 1 4 3 2 4 3 3 3 2
Que.| 141|142 (143|144 | 145|146 | 147|148 | 149 (150|151 [152 153 154 155|156 |157 (158 (159|160
Ans.| 2 2 3 4 1 4 3 3 4 4 4 3 2 3 1 2 3 4 2 3
Que.| 161|162 | 163 (164 | 165|166 | 167 | 168 | 169 | 170|171 |172 (173|174 (175|176 |177 178 |179]180
Ans.| 2 1 4 3 1 4 4 3 2 2 3 1 1 1 2 3 2 3 3 1

1 5.
Component of § on ¥ = xcosf x = 5.0 cos(2nt + w) = —5.0 cos2mt
N~ . dx .
Xy _ (@—-Db)-(@a+b) Velocity = — =10xnsm2nt
= = —— dt
4 la+1) )
a’—b’

’ d x
Acceleration = — = 207" cos2mt

= J2 43 dt
a”+b o Att= 1.5 sec,

2.
72 x=-50cos3r =501 =5
T2l
dx
3.0 Velocity = —— =10m(zero) =0
4 @ dt

d*x

Acceleration = i 20m*(-1) = -207*

1)
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11.

According to work energy theorem

W+ W, =AK
mg

Mg(h + S) — FS = 0 [K =K, = 0]
FS = Mg(h + S)
h
F=Mg| 1+—
o(1+)
Vp =2V,
Voo =Xi = V-V, =xi s (]
Ven =Xj = Vo-—Vp ZXE
= V-2V, =X] ook )

Multiply eq. (1) by (2) and subtract eq. (2) from
it

W -2V, — (Vo =29, ) =2X1—X]

Vo =2X1-%j

X 1
i = Btan!| — S=Etan1(—JS
dir®. (ZXJ >

©)

No conduction is found between P & Q so both
P & Q will be n-type or p-type. Therefore R will

be base.
yam
alter 305 = M soe 1500 —10x 50

5000x10

—_ 2
T
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12.

50xR

@=MXIOO
3 50><R+50

50+R

= R =50 KQ

13.

Ax="2
2

M8
A 2m
A =51
14.

T, = 0.7 RC

_ T, _ 70x107 10°

T 07C 07x2x10° 2

5 x 104

R =50 x 10® QO = 50 kQ
15.

2V _2Y 100
4L 2L

V(32 5] =100
2L 2

v =200
2L
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16. (4) 24. (3)
17. 25.
B Ap _ 2M(u+v)
TEo At £ For isothermal process
18.
P« e
A V
Volume expends to double so pressure will be
halved for adiabatic process
PV* = const
B C .
5{&}
r P, \V
Ryg=1  Rye= b
5
P/2 [16\/]5
r P, 2V
R,c= 5 2
P
19. Ey=rer
A —
Rp o ﬁ % = [T, T,, e,, r = same] o6,
20.
8 = IRy + Vi,
Fnel = 0
4x107
o = 8= 100 Ry +06
F+F sining =0
= R, = 185kQ
Fremajnjng = _F 27
21 Thermal Tension F = YA o AO
28.
Tp=M, ., X{g+a)=3+5)(10+10) = 160N
22. (3) 155V ¢
23. F—WW————
2sin® 1.40 volt
5= T Ko/P O
1+ K/r P, =280 Q
K? 2 1.40 =155 —1r (D)
For shell — = 3
! e 1.55 -
X ut 1 28041 ..(11)
=3 gsinB e (1)

On solving we get
but ag=gsin®  eeeeeee- (2) r=30Q
dividing the two equations

a _3
aS_S

®)
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29.

30.

31
32.

33.

34.

35.

1
lesocm:v_z_ Mwl

;2 = M,, = 16(CH,)

dQ  KAAT A
dt_ 7 (.. o 1%)
@m_

a7

@

o A2

4, N 1

Total distance covered by two wheels is same
2nrn; = 2mr,n,
or 0-5 x 200 = 0-1n, = n, = 1000 rpm

Phase diff. = — ——=—
ase diIr. = 3 6_6
2_2(2)0_1009 sing = —

X—sm[6}<100 50Q

I leads E so reactance is capacitive.

Volume remains same = AL = A'(ZL)

A'—é'R—&

S 2TRT A
p(2L)

£~ (A2) = 4R,

4R. - R.
%change = TXIOO = 300%
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36.

=30V

37.
Since P =n’P
n=3 P=27P

38.

Apply energy conservation
Energy at surface = Energy at height

~GM,m 1 (vejz
——<—+-—m|-=%| =
R, 2 (2

(=]

-GM.m
(R +h)

1 GM_m —GMem

4 R, R.+h

Hence R, + h =

h:

u.)|0'7U wl-lk

39.

V+V
V V.

35242
352-2
n' =708 Hz

’

n'= 700[

“)
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40. 45,
near A —— +ve potential AY
near B —— —ve potential o 0.2)
B
>E
aA = (+) / \ IS
{ A -
a. = (- L%
= a0)}¢ J@0)
Also potential at both —© & +o are +ve >
= a, dominates a, \'/ >
D (05 7a)
So [a,| > |
V=V,
41 in direction of electric field potential will be decreased
2u, _2un, V3 S0 V> V=V, >V,
g g g
46. (3)
NE) 47. (3
u = 1& u, = 7 48.
2—amino pyridine is not present in nucleic acid
uy V3 (B 49. (2)
tane=—x—7 = O=tan EY 50.
42. M, V, =M, V,
MV, :
M i e 5 o f = 5f V,=— 102540 10060
f, ¢ s M, 0.1
f,+f,=24 6f, = 24 SV, =V, =100 - 40 = 60 cc
£, =4 and f, =20 51 (4
52. (3)
43. 53. (2)
54,
sol. PV' = const. = v/ « 1
' ' P CH, cH, CH, CH,
1 L 1 Br, By SnHCI BrNaNO, o B
TV'™ = constant = V' « = Febr i’ meT
NO, NO, NH, *N,CI°
44,
CH, \
e= —LE Br
dt o
7-5
= 6><103[ ( )3] 4v Br
(5-2)x10 55,
48
H,PO, ne2 5= 49
40
NaOH n=1 —=40
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56. (1) hcp and ccp both have same C.N. = 12.
57. (3 66. (1)
58. (4 67. (2
59. 68.
, Chlorobenzene on hydrolysis gives phenol.
V1H=2.18x 10° x ;:2.18x 10° m/s 69.
.0l X K =Ko
AV =218 x 10° x —= =2.18 x 10° m/s R
100 a
AxxmxAV:L K o™
47[ Ka =—= -7
K, 3x10
6.62x107
AXx 9.1 x 107 x 218 x 10° = —— 70.
4x3.14
Ax = 2.66 x 107 m. 2L IS (e — gy
0= Eaf - Eab
60. Eaf = Eab
71. 4
. 72.
/\OM ) O
| S C—N<CHS
-5
o= Ié = —1'732110 —175x107 =4.2x10 3 CH,
' N.,N-Dimethyl Cyclopropane Carboxamide
AL =ahe, =42x107 x390.6x10™ 73,
A xM_42x1 02 % 390.6 x 10~ x 0.01 vy Reactivity of halide o« stability of carbocation
1000 1000 '
61 (3) FCH,COOH + BOH — FCH,COOB + H,0
62. (3) 10m mol Sm mol 0 0
63. 5m mol Om mol 5m mol
Ph H
O Na/liq.NH, N [Salt]
M=k 1 . C\Ph For acidic buffer pH = PK_ + log [Acid]
(Birch Reduction)
PK = -log Ka
64. a
75.
_[cof [H.0] LI = G
1 [C02]2 [H2]2 = 1.0 x 10 x 0.0821 x 298 atm.
= 18.6 mm
76. (3)
CH, ||H,O
g, - 1] 7
[CO][H, ] 78. (1)
79.
4
_ [©0.][H,]
[cH,][H.0]
_ 1
* K, xK!2

65.

©)
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83. (3
CgTaphite + OZ (g) - C02 (g) 84. ( )

It represent enthalpy of combustion of graphite

as well as enthalpy of formation of CO,(g) In HIO, and H,BO, central atom present in

highest oxidation state so act as oxidant only.

80. (4) 5
8l (4) o (4)
82. o )

Q and R shows aromatic character due to Huckle

rule.
’ - 88. (1)
“ 89. (3

) (1) 90. (4
o-H=10 a-H =5

= 10 + 5 = 15 o-Hydrogen

()



